EARAROBEEIERT — 2 N— IBISH —F

2015510548 (B) AEIBR#H9H

Gl Y >%3m Lt 50078 T [EE] &2

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[~E4] 1% :7,500,000 @ ~ 23 :3,000,000MH ~ 3i&:

1,900,000 .~ 4 & :1,100,000 M

/53 750,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 : i 4 | BRE 1:46.5 7-7 35.6| 95.3 | 9 440 | EAE (RR)
AR YNIER 5.0 =) o) | W ¥STLyRIS5T 5747
Z:arFaay b BIT7VNT 14— EvilLy RT7—L
N o @K — 146. - . . mkElE (EX)
FUY LTI R 8RS Loy AR et et R B e
L:ZFAT-IK B:Y—x2U%1457 BT 7 —L4
e . 3 | EB#RZ 1:46.6 17-15 | 35.1| 93.9 | 12 | 504 |FMETES (ER)
T—%>T07714FR Lid 53.0 ) " (E)m#ié.‘lezrkfz
LNn—-ErTv— B:T7-F%2TU—-%7> (B) A1 -FRL—->a>@aEI7
0 = s 8 KR : - HEOaARER (FH)
Y oF— UO—X i 4 A 1(;?:)7 14-14 | 35.4| 93.1 | 3 (4;6) Lo
L:Er/o7Ooq40 B:OthT— J—HTp— L
. N aIEF 146. - . . =2/ (FR)
JL14951y— [B] o4 = (11416/49) 4-4 36.3]91.7 | 2 g? o
X THANAIN B:TI—1y T N— FEXZY K
¢ K # o4 | REEE 1:46.9 11-13 357 91.2 | 1 482 | FRBE (BR)
6|8[16| /S FIT 1= 57.0 (7€) ) |EEEAESLY
R:707% B:LXMLAN—b () #A—-KL—va>AET77
. . EHHN : - E+HREE (FH)
7 g|F—I=)N— # 8 | BAF0 (17;12% 76 |36.2| 91.6 | 6 <4+922) ntEs
XD THANAN BRFAI75UZ HET77—L4
- {7 = i 4 | =X 1:47.0 14-15 [ 35.6| 90.1 | 11 464 | THEE (FF)
81510 YN ZXF b 550 (3/4) - i
R:F4—TA>NT ~ B:v&=F SREHUS
. — o Rk — 147, - . . HREEE (EXR)
9|12 TRTLAYS1M > 4 5 50 1;7t; 11-12 36.0 | 89.4 10 :\?g) ﬁﬁ%ﬂ—
AR v T4 =T BIXINIXTYLT J—=HrTp—L
= AR :47. - . . Exm= (FX)
M, ESETCYEN o | B R I el RGN I IR bt
LY LTAN—b B:R13Ta—Fv— TA XXy Rifkatt
i > i 3 | BERAS 1:47.3 2-2 36.9| 88.2 | 14 | 478 |iEKAE (RH)
1 1 J)Aa—-x ¥¢52.0 (11/2) (+6) ED%IK
HLFAN— B:rT—LA2KY INAL Bk
. B 3 | tAE— 1:47.5 3-3 37.0| 86.3 | 8 456 | MIAE (RR)
12|8(18| 71 > T X LT 63.0 3/4) o | B T
L:aA>FaM4y b B:OXETFLIF AXETa—T7—L4h
N BEE 147, - . . A= (ER)
13111 ¥e=>7UIT Y4 it 4 o (12417/29) 4-4 37.3| 82.8 | 16 (5;6) it
LY RYIYXIR B:vV~v=>T7Eal SREHUS
. . . JIIE%E . . . . REEL (FER)
1alzlis| - EFTy €22 i 3 e 1(14/82>0 16-17 | 36.3| 80.5 | 13 (4+166) %Eﬂ%a
X ThANAIN BRNAII T T o J—HrTp—L
= _ 5 4 4 | BPBE 1:48.2 7-9 37.2| 79.7 | 5 450 | BE (EH)
15/8[17| ENV /T =T 55.0 (4 1/4) Gy |8 e
R:w>NnNy&rH7r B:aAr¥—-1Fuh puiie ]
=50 S, @ WFEEB : - AHE (FEX)
16kl 14| Z>am 12z i 3 W 1.(418).4 7-9 37.4| 78.1 | 17 (4_824) ety
Z:Nd B:T7YI7UR [ 4%
S o4 | AEEN 1:48.4 1-1 38.0| 79.0 | 7 508 | EAIEF (ER)
EH 5| F—>Yrre—-0— 57.0 (7€) (-10) | LE=E
R:Z7)—>kb—A— B:ILHPIT— RIS
¢ kS 4 4 | - 1:49.0 18-18 | 37.0| 71.6 | 15 | 450 |HEHhEEF (E®R)
1817113 2V /7L FINbZ 55.0 3 1/2) (-o0) | AT
L:O—JX12 414 B:ov bLIqr fx FE
@ 21 L
£y 48.0-36.1
NA> 24 LA | 12.5-11.0-11.5-11.9-11.6-11.9-11.7-12.0-12.4
® I—F—&EBIERL
13—7-
23—7F—
G=7"= (¥5,11)18(1,4,12) (7,8,14,17) (2,3,16) (6,10)15,9-13
41—F— (x5,11)18(1,12)8(4,7) (3,14,17)2,16,6(9,10) 15-13
[ RN
B Oj 7 2,090/ 794K 3-7 3,260/ & 2-4 3,670M &R 3-7-9 86,220/
# B 7 580M 7-9 7,790 B E &=/ 10,360 EE 7-3-9 559,820
3 370M 3-9 6,050 B H 7-3 25,0204
9 1,400

ABICOVWTRDTEEERROODE. TR LIV,




